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1. + (/2 points

(a) What is wrong with the following equation?
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(b} In view of part (a), explain why the following equation is correct.
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12. A crystal growih furmace is used in research 1o determine how

best to manufacture crystals used in electronic components for

the space shuttle. For proper growth of the crystal, the tem-

perature must be controlled accurately by adjusting the input )ﬂw\ 00 l

power. Suppose the relationship is given by
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where T is the temperature in degrees Celsius and w is the

power inpul in watts. 2w =—2.18S
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(b) If the temperature is allowed to vary from 200°C by -2 37, 99878666
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(c) Interms of the &, 6 definition of lim, ., f(x) = L, what

is x? What is f(x)? What is a? What is L? What value

of & is given? What is the corresponding value of 87
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+ 0 points SCalcd 2.8.015. [4707866]

A street light is mounted at the top of a 15-ft-tall pole. A man 6 feet tall walks away from the pole with a speed of 5 ft/s along
a straight path. How fast (in ft/s) is the tip of his shadow moving when he is 45 feet from the pole?
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